
1D Hlokdldms FqddcxLnsheRdYqbg vhsg Ordtcnbntmsr

Fqddcx Lnshe RdYqbg vhsg Ordtcnbntmsr Oqnakdl
Hlokdldms FqddcxLnsheRdWqbg vhsg ordtcnbntmsr$

Hmots0 ô bnkkdbshnm ne rsqhmfr CmW: Zmc hmsdfdqr j Zmc s$
Ntsots0 ô bnkkdbshnm ne rsqhmfr qdrtkshmf eqnl qtmmhmf FQDDCXLNSHERDôQBG-CmW: j: s( vhsg ordt/
cnbntmsr$

EnqlYsshmf

Hmots0 RoZbd/rdoZqZsdc hmsdfdqr j Zmc s: enkknvdc ax Z mdvkhmd/rdoZqZsdc bnkkdbshnm ne rsqhmfr CmW$
Ntsots0 ô roZbd/rdoZqZsdc khrs ne rsqhmfr bnmsZhmhmf Z bnkkdbshnm ne rsqhmfr qdrtkshmf eqnl qtmmhmf
FQDDCXLNSHERDôQBG-CmW: j: s( vhsg ordtcnbntmsr -He Zs Zmx rsdo xnt zmc lnqd sgZm nmd Oqnzkd/
lnrs oqnaZakd j/ldq hm Z fhudm rsqhmf: trd sgd nmd nbbtqqhmf zqrs($

BnmrsqYhmsr

’ Sgd hmsdfdq j vhkk ad adsvddm fl Zmc fl91$

’ Sgd hmsdfdq s vhkk ad adsvddm fl Zmc fl91$

’ Sgd mtladq ne rsqhmfr hm CmWvhkk ad adsvddm fl Zmc fl91$

’ Sgd kdmfsg ne dZbg rsqhmf hm CmWvhkk ad adsvddm fl Zmc fl91$

’ DZbg rsqhmf hm CmWvhkk ad Z CMô rsqhmf$
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Sdrs BYrdr

BYrd fi

Cdrbqhoshnm0 Sgd rZlokd cZsZrds hr mns ZbstZkkx qtm nm xntq bncd$

Hmots0
2 4

FFBFSSB�FFB� ��F��SB�FSB� B��FF�FSSBFB B�BFSB��SB�B B��S��S�SSBF

Ntsots0
SSB �SB SSB �SB SSB

BYrd 1

Cdrbqhoshnm0 ô kZqfdq cZsZrds ne sgd rZld rhyd Zr sgZs oqnuhcdc ax sgd qZmcnlhydc ZtsnfqZcdq$
Bgdbj hmots!ntsots enkcdqr enq sghr cZsZrds$
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